<o @> (rad)

< 00, > (M)

< op/p. > (o)

Ratio

X
iy
o

&
o
N

X
iy
o

&

o
[N

o
=
[6)]

< o cot(y) >
o
[N
[¢)]

o
N

-0.2F b bl L bl .9_0_2;....!..:‘.!....!....I....!....
14 < x : i -
osf- il ; , 0.5F- 9
of N h ] ] : 0: : : : : .

-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewBinsDC1000time_ RECO
100r " " - - " — 100 " " "
F i : : : : g E i : :
80 b i i B SRR o || AERERN B = 80 e ¥ S
L ! A L " : :
60 11V S R 1 |1 S 60 1 " B
r ¥ . el r ¥ b b
40F 1 [ v 40F . {3 ¥
20E- IR ERE <14 s 20E- -1 .
opf il H+ opff i
o : : : o I i : :
~20F{{{rt T ~20F{{1 it fHHTE il
oo 1R e R M it ~5
~oof A4 Al
sof - At 1l ~sof M
o—lOCE""I""I""i""i""i"" o_loofuuuuiuuuu Pl LR Qi) b
15F - et T 2 L5l
F 0 o d - x E 1 bl
1= Tr A ER R = T
0.52— \ : l MR | e 0.52—- H J
9= 1 o0 1 2 3 9= 1 o0 1 2 3

TP n (PCA- to beamline) TP n (PCA- to beamline)

* e

23 -2 -1 0 1 2 3
TP n (PCA to beamline)

iy




	Contents
	Page 1


